
SOLUTION TO PROBLEM #12440

Problem #12440. Proposed by H. Ohtsuka (Japan). Let n be a positive integer. Prove
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Solution by Tewodros Amdeberhan, Tulane University, New Orleans, LA, USA. Denote the left and

right-hand sides of the above equation by fn and gn, respectively. If Ck :=
(2kk )
k+1 then fn+1−fn = Cn.
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That means fn+1 − fn = gn+1 − gn = Cn. Also, f1 = g1 = 1. Obviously, fn = gn as desired. �
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